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The initial plantings become forbidden — PNOR1 1P

Overview

The X713 states that by 07571 °R92 even the initial plantings are MoX (if and
when it becomes 0°X?). These initial plantings are (either saplings or) seeds
which are not edible and nevertheless they are nX1721 72°9%2 00K, This
teaches us that o°X?> are different from (n°yawn) 797y where the M0O°R is
limited to edibles; however by 2°X%> even non edibles such as wood, etc. is
also MoX. Our No0IN explains and qualifies this ruling.

— (3,997 Y2PY 129INRTI YONRI 191090 YW WPNI DIDIVAIN DIV PNHYY 13939 99N
The >'"9 states that even the stalks and the straw that grew from the

o°xY> (mixture) is forbidden, as the X n3 later cites a xnna -
— 2N WA £997 NI YW PYWHA IN 1059y 199591 1920 NY 1N

‘An oven that was heated with peels of 7757 fruit or with straw of X%>

@955 if it is a new oven (this is its first heating), it should be destroyed.’
This proves® that even the WP of 27271 *XY3 are 7IXI72 MOK.

mooIn asks a question:
— (0w X,9 97 Mamna) I79IY AYNRN PI937 PNYY 12%349Y NYH)

And the "7 has a difficulty; for in Y2512 WK P5 -
— 59991 INUN Y093 Y MXDHN NOYI *3)

Concerning the case where one laid out expenses for his wife’s property,

etc. -
— T Y9%AN KIN “9IN NY 1PN NI 29 WAN

! 75w *o*%p are considered as part of the ™2; see *"@1 there *2*9pa "7

> A new oven is considered fully functional only after it was heated (the initial heating solidifies the oven
walls). Since this heating was done with X137 10X, it is considered as if the 710 was ‘made’ with MoR
X377 and therefore non usable.

* mooin proves that Pwp are 2°X?32 POX from the Xn*>72 later, even though it is also indicated in our X773,
However, in our X3 it is merely an inference (since he did not ask w157 nYw 17 AN R? 19w 5" 1n); but
in the Xn»"1 it is stated explicitly that 2"775 5w Pwp are 7IR372 00K,

* The mwn there (2,0v) rules concerning a husband who expended monies to improve the 319 021 that his
wife brought into the marriage, however he never managed to derive any benefit from the 2%» 021. If the
husband subsequently divorces his wife, the ruling is that he swears how much he spent on the 2% 021 and
she has to pay him for his expenses (and she retains the 3%» °031). However, if the husband did derive
benefit from the 2197 °031, even if it was a minimal amount, nothing is owed, and the woman retains her >023
321 and the husband receives no compensation (neither does the wife receive any compensation if he
derived more benefit that he invested). There are different interpretations as to what is considered a
minimal amount.

> The word ">2x' means figuratively that he derived benefit from the twigs; e.g. for firewood, etc.
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77971 29 explained that even if he ‘ate’ only bundles of twigs that is
sufficient (and she owes him nothing). ‘Eating’ m71ar °2°2n is a sufficient 79°2X. The X3

continues to explain the ruling of 7777 27; for -
- 611‘.7?!'\ 21 NPV DINDIY NYIY NYON 9INT NINYLY NN’ 29

71737 29 follows his opinion elsewhere where he states that if a p> i ‘ate
7999 or 2°8%> or Ny aw during his (three) npim years it is considered a valid
ST -
7
— PION MIONY D8N P9 DIINY 919 PPN 1IN YAV 39 Y N W19
Meaning that even though that by all these cases (n°v>aw1 ,0°%%5 ,72v), he

can only eat the wood because the fruits are forbidden, nevertheless it is a
ap1n.2 This concludes the X %3 in Ma1N>.
— 99V OINDD S8y NION

It is evident from that X713 that 2°98%> wood is permitted to be used; otherwise
there is no 7P, and here we rule that it is 7X372 70K,

Mo0IN answers:
—"DONYa Nt 07 IV O8Y ININD 29210 ONHNT BN 1’29 IINY

And the n'"= answers that there in M21N> (concerning the 7pIn) it is

discussing those woods that existed before the 2°8%> were planted -
— PosnNm PornY o

And before the wood added a two hundredth, therefore it is permitted 1X372

and it is considered 11%°2X for 1P purposes -
$DININN PVINY INND PION 13 YINN PYI1IY PN YaN

However those woods that grow afterwards (after it was 0 nRn 7°010),
then, even if they were there initially, they are forbidden since a two

% The rule is if an alleged buyer ‘ate’ the produce of a field for three years, and the original owner claims
that he never sold him the field, and the current resident has no bill of sale that he bought it, nevertheless he
retains the ownership of the field for he has a 77117 of three years.

7 A apm is valid only if the alleged buyer consumes the produce in a normal manner as an owner usually
does. Here he merely consumed the wood (which ordinarily would not be considered a 7p1), but not the
produce, nevertheless, it this instance it is a 711, The buyer consumed whatever he was able to consume,
for the produce was 710K, and only the 0°Xy are n.

¥ This shows that 0¥y "X is considered an 79°3X (otherwise there can be no 7). This explains why
MMt *272n NPOK is considered an 79°2X concerning the case of 2171 021.

? There was a ([large] permissible) grape vine growing and later 2°X25 was planted adjacent to it. The fruits
of the vine grew an additional two hundredth (after it became o°X?5), however the vine did not grow an
additional two hundredth. The fruits are MOR since 2°°nRM 7°017; however the (wood of the) vine is N
since 0»NRY 5017 R?. [MOOIN in 779K 7"7 M2IND points out that this is not at all unusual for the fruit grows at
a much faster rate that the vines (see [11&7] X"wAnn).]

' Plants that became 2°X9> after they were grown do not become 7oK until they add a two hundredth of
their original size after they became 0°X72. If the plant weighed two hundred ounces before it became '3
it will not become 70X as 0°X?3 until it grows (slightly more than) an additional ounce.
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hundredth was added. The xn>2 of 710 can be discussing either a case of 7°017
onXn, or of new growth (what grew after there was 0°X%2) where the 1"wp are certainly
70N

Summary
By 07571 95 even the wood of the plant is MoX provided it grew T0°X2

(after the 0°X%> planting) or if it became larger by a two hundredth.

Thinking it over

When permissible plants become M0X on account of a°k?d, for they were
0 NX7 7°017, is the entire plant 70X because 0°X?) is intermingled with it, or
because the entire plant becomes intrinsically 2’23 namn 70x?"

' See previous 72w i "7 Moo
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